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Note :— Answers may be written either: in English or in Hindi;
but the same medium should be used throughout the

paper.
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Question No. 1 is compulsory.
Attempt five questions in all.
All questions carry equal marks.
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Write short notes on any fwo : : 72,72
(D) GDP and Social Welfare
(if) ~ Paradox of Thriﬂ—h
(iii) Open Economy Multiplier
(iv)  Functions of ‘Money.
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What is the difference between money flows and real flows ?

Explain the circular flow of income in a four sector economy

with the help of a diagram. 5,10

Hfew o UE SREiEE AT B U F SRR § 2

Yarfas ® Wera @ WR & sideree H ST
@ v AR % A i

Explain the value added method of estimating national
income. What precautions are to be kept in mind in its

estimation ? 10,5
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What are the determinants of aggregate consumption ?
Explain the linear consumption function with the help of a

diagram. AN
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(/)  The following information about an economy is given
as under :
‘C=200+0.4Yd ‘Yd=(Y—T)
=% 150 Crores;
G = ¥ 100. Crores
T = ¥ 200 Crores
(@) Determine the equilibrium level of income and
: éonsumption.
(b)) What is the value of governmént expenditure
multiplier 2 b
(¢) If G increases to ¥ 250 crores, what is the new
equilibrium level of output ?
A(i.r') Distinguish between actual - investment and planned

investment. 96
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What is the meaning of a balanced budget ? What would
be the effect on equilibrium level of income if government
spending and taxes are simultaneously increased by the same

amount ? =53l
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What are the determinants of exports and imports ? Explain
the trade feedback effect in an open economy. Th, 1%
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What are the motives of holding money according to Keynes ?
What will happen to the demand for money curve as income

increases ? 10,5

FEH F TR X @A B Ryd FE 2w
ﬁq&ﬁm%mwmwu%m7

4 1,800



